2016%F12H4H (H)  5ERM2H 9R &7 5 A VH

% E

14:30

R ISAVE

HS5R2F 2mS50BAUT GRBE) ()

B354

P =N o AEE : 1000, 400, 250, 150, 10075 F
1:47.8 - ’ ExEREAGH 345 8 255 7 155 6 534 6
1:49.4 L—R5y 4R : HWM 8 HMS 8 SMH 7 HHS 6

HEE | FREY | ERAEE T

L—2% L—T14v¥ 935X 3HTE=%EIR BH-FEF- AS A5

lud
2
Ea

E) Bt 2478
2. 3, 4AEBIEN 5178

#IB| & B % B F | MM E(s mrcnsm B 2 1000w |41 =fE# - 23— - BIHKE 4L EAYSF
& 26 | B 2 |EnEE/FE|m  4EuT | 2 1400 [61TH= L— R R—RFI3F - ohRY - 3F (GELY, N3, SEL) BI%3 Fa-(L EBIRE BIOF - ol - #3F(G~1) LAY 3 FIRM
E(E|# | (BOR) WE | £ A | ZI800BE (B Ew B3 oo L—RLUSFEAL - HBROLYSFHAA > 05 OBERF HIB=1EBRIE2ER EE) 1. 2. 3EROWH
BE BAvX | B 2 |1C1ARME| & FEFR| B3 00 AiE HRE 33ERT 4R 53R
FLDADx— 42 21 - # giaé s "Z0.0.0.0 [ F/V1.0.0.0 1 E%_%?J F giﬁiz l)((i’orggo 1 48 F Zgé—m
S, bEvTY 5 436- £ 0.0.0.0 [ F780.0.0.0 I 0075 TE
TIDv b4 |50 158 f sass | 220000 | F40000 6 1158 5% 8A 1 128 8% 6A
111 FyFLya=R bk Z | BuER NE0.0.0.0 | =F0.0.0.1 [ 442 +6 Sellii 55 @A [ 436 #) Sl 54 @@
(T7SN—E) £ .107| HiB 149D | Z 0.0.0.0 [ ==0.0.0.0 | 2000m Z B 2:04.5 33.9 | 1800m = B 1:49.8 33.8
——[#]] 1001 | 20001 |[2Z1001 [ - ® SSH 37.7-33.9 254 (4) | SSM 36.9-34.5 255 (1)
AR 7007 05£0£1380 | £40.0.0.0 | 38 0000 [ PHef¥3vt’ (1.1)  ZE2E5E | 14/1-3(0.0) EEE
TURTG AT H2 [ 59 E[O:::: [®Z0000 [F/N0.000 [1611.12 60 F 5m#EK3 | 16.08.28 1] & 2 =10 16.08.06 b4 & 2513
YUSARYT HBR B 506-506 | 3 0.0.0.1 | FM@0.0.0.0 | F4 IJ—#F Gl |#iB2mS Gl | AMHTE 5
~7 5.0 .001| A 5454 | £20000 | FA1002 |9 | 10EIE TA Kst |7 158 O 5A 1 18E 4B A W
A2 a|72—1u7 HE | AR N 0.0.0.0 [ =F0.0.0.0 | 504 0 =3B 55 @B | 504 -2 BB 54 @@ | 506 4 TL— 54 Q@@
(RRY %Y 4 —2) £20.0.0.0 .10.0.0 | 1600m 3= B 1:35.9 34.9 | 1600m & £ 1:35.0 34.3 [ 1600m 3 & 1:35.9 33.4
%] 221002 |- @ - SSH 35.9-34.1 343 (10) | SMH 36.0-33.6 523 (12) | SSH 37.2-33.4 534 (3)
HARE B 240000 [ 4280001 [y a-313-h(1.3) Sk (9 yby 39-(0.7) ZiB% | 79p547-2 (-0.1) Sz
RN 2 [ 2 0.0.0.0 [F/N0.0.0.0 | 16,1713 -46F bmm4 | 16.10.29 -48E 3Frmb> | 16.09.10 26 & 4FILT | 16.08 28 -42F 2Frmi0| 16.07.30 12 & 2¥ml
Ty FILISUTF £ 0.0.0.0 [ FrH0.0.0.2 | FKAEF| KESF | RAESFI KEF | FRA—H 5005 | REEFI KESF | RESFI REEF
£20.0.0.0 [ F/40.002 |14 1588 4BI3A 17 18TEIBHION s+ |11 128E11%I2A  k4h | 15 1888 6F12A 7 1TEE12EB13A
3 Il SNITISAT RE N 0.0.0.0 [ =F0.0.0.0 | 416 0 FiR— 51 @®) | 416 +4 E#1B3 54 @D | 412 -4 #4485 54 416 -2 ;24183 54 @@ | 418 0 2HB 54
(T3 Y FiLssg—) £/ 049 F£00.0.0 [ ==0.000 | 1600m Z B 1:39.2 36.6 | 1400m 2 # 1:27.2 38.5 | 1600m = B 1:36.6 35.0 | 1000m ¥ B 0:57.6 34.7 [ 1400m ¥ B 1:22.2 36.2
——[#]] 0.0.0.6 [F 0001 |2200056 @-@- - -| SSM 37.1-34.6 441 (14) | SSS 35.1-36.4 241 (17) | SSH 36.1-34. 9 334 (6) | HMM 32.8-33.0 122 (14) | HMS 33.3-36.2 344 (9)
HEEH 1105 050250580 | £470.0.0.0 [ =258 000 0| 7H3L-F(2.6) L | M FYPG.0)  EiBB | T - (1.0) Sk “17407(2.6) kS | 7R WA HxE
T/ oTvoT4 H2 [ 51 B & |[®RZ0000 [F/N0.0.03 |16 1106 43 F 3f@m2 |16.09.03 /6 F 24L#g5 | 16.08. 21 50 & 24LWE2 | 16.07 30 24 ® 14L#R1 | 16.07.03 —3] & 3 m2
Seavi BEEW | F 452-452 | {2 0.0.0.0 [ FmE0.000 | FAEHLHE 5005 #L'ﬁ %S Il | KRR KR | RESF KBF | AMUTE 5
55.0 .189| fr 54-54 £20001 [ F/0001 |5 1088 6%F TA 1388 2&120 MW |1 = 958 6% 54 6 1088 8FBIOA 4 |11 13EEIZBEION K4t
4 s EaF7940b B | kEk INE0.0.0.0 | =F0.0.0.0 | 442 -10 #1LF0 55 OO® 452 0 #ILF1 54 @O | 452 -4 #LFN 54 @D | 456 0 41k 54 ©©® | 456 %) MHEE 54 DOOQ
(k=—E) 2@ 171 ALB 1506© | F:Z0.0.0.0 | ==0.0.0.0 | 1800m = E 1:50.6 35.3 | 1800m ¥ B 1:50.6 36.6 | 1500m = # 1:31.1 36.5 | 1800m = R 1:51.2 35.7 | 1600m 2 B 1:38.1 37.7
< [%]1] 1.00.4 | 0001 [£Z1.004 ~®- - -| SSH 37.1-35.5 434 (2) | MMM 36.4-36.0 523 (11) [ MSS 35.9-36.6 534 (1) | SMM 37.8-35.8 344 (4) [ MHS 35.9-36.2 152 (11)
[DEES 60075 | 315020580 | £470.0.0.0 | %38 000 1| 8-} Ya"50(0.4)  E3ks | 1520(0.7) WEE | MM Avhy (-0.4) SFSkE | Z9/4553(0.7) Sk | 9 47747(2.8) sk
FA—TART R H2 [ 61 ©: . |[BRZ1.000 | F/N0000 [16.10.01 59 F 47
Hh)F—H— JIEBEH | B 464-464 | :Z0.0.0.0 | FW0.0.00 [ AL FE %)i
55.0 .314| fr 55-55 £30000 [ F740000 [ 1 1188 9% 1A
5[50 |*vyzrm—%2 BE | IR /NZ0.0.00 | ZF1.0.0.0 | 464 5) JIIEH 55 O@@
(Redoute’ sChoice) EH 246 F£0.0.0.0 [ ==0.0.0.0 | 2000m ¥ 7 2:04.8 353
«——[#]] 1.0.0.0 L1000 [ oo SHM 39.9—35.9 355 (1)
BRE 4907 | 012080 | £470.0.0.0 [ &858 00 0 0 | 22" H705747(0.0) %%
TA—TAVRTk 42 [ 53 A - |BRZ20000|F/NI.000 161030 50 F A45ER9
7ot miEx | B 462-462 | ®Z1.0.0.0 [ FE0.0.0.0 [ ALY TE HE
- 55.0 .190| Ff 55-55 | %0000 | Fx0000 | 1 113 8% 2A 4
6|0 [#—4Lrn7s— B | BPR= INZ0.0.0.0 | ZF 0,000 [ 462 ) mfiE 55 @9
(Kingmambo) FEH .202| =R 1506(D | £%0.0.0.0 0.0.0 | 1800m % B 1:50.6 33.9
——[#]] 1.0.0.0 £21.000 [ ----®---|SSM 38.2-34.7 245 (1)
H.H. yz49-Endb 70075 | #0502 1:80 | £450.0.0.0 | 4@ 0000 | M7 YH -} (0.0) EEE
A0 T2 ;;gﬁ&_ | . |®RZ0000|F/\0000 15%"1;;_*2]7 -32®% DHEM8 1;.‘0{8.714__38* E 28R
S= s N 4 R— H£0.0.0.0 | FE0.0.0.0 ] FIEF FE HE
TEZUVTY 55.0 163 £20000 | F4001.0 [ 15 1638 8% 3A 3 8EIBIN MW
1|7 a2l #vy—a— B | Pe— MNE0.0.0.0 | =F0.0.0.0 | 486 +4 EERHE 55 @O | 482 ) HEHL 54 BB
(F477m) £iB 069 EZ 0000 [ ==0000 | 1600n & # 1:41.5 30.1 | 1600m ¥ B 1:36.4 33.7
——[#]] 0011 |20001 |£2001.0 [®------- SSM 36.0-37.2 322 (15) | SSM 36.2-34.4 225 (1)
(H) IW27-4 18075 H0%0Z0E0 [ £40.0.0.1 |88 0000 | $47 7v405 (2.6) ZHk | e4=-1' 549 (0.2) HEiB
FE—Xa—F— H2 [ 50 T . . |2 1001 [F/V0000 |16.11.13 24 F b&#d | 16.10.30 41 F 4m#E9 [ 16.06.25 49 & O3PRiW7 | 16.06.04 28 & WA
SHELETEr Y b REBEN | B 432432 | R 0002 | Fmo0.0.00 | HHE 5005 | 5005 5005 | SREEFI KEH | A TE E3-
< 4N J 55.0 .072| fr 54-54 £20000 | FA1.001 |5 53 3% 5A 7 1588 9FIOA 1 1088 2& 4A W |4 1088 4B10A
8[8|allvs—o=—2qr = | smOER INE0.0.0.0 | =F0.0.0.1 [ 450 +2 AEE 55 QA | 448 +16 KR 55 (@ | 432 +2 FIHE 54 Q| 430 #) MEE 64 OO
(Fvg~qB-) F® 100 FZ1.0.0.0 .0.0.0 | 2000m ¥ E 2:03.6 35.9 | 1200m ¥ B 1:09.6 34.7 | 1600m # % 1:37.6 36.9 [ 1600m 3 B 1:37.5 33.9
%] | 1.0.0.3 | % 0.0.0.1 | £%1.003 ~@- - | SMS 36.7-35.3 333 (5) | HMS 33.5-35.3 235 (4) |HSS 35.3-37.1 534 (2) | SSH 37.2-33.9 444 (1)
HpE 71075 H05%1£0i80 | £40.0.0.0 0005 /7%2501.7) ko £ -1-1-(0.8) EEE | IR0 FEERE | Ly 59-3(0.5) KkE
F—toR< LAY 2 T |[R20000 000 | 16.11.24 15 & &4 | 16.11.03 b & JIE | 16.10.24 17 & %# | 16.10.18 44 F &R | 16,10.11 30 & &k
N T — m&&ﬁu B 448-456 | 3 0.0.0.0 000 | {TEHE 2% 2% |O—L)LE 7y | HS5%R2E 285 :1tl¥)’rﬁ:ﬁ$i M | Paz=TY 17
54.0 .052| fr 54-54 £2£0000 | FX0000 | 2 838 8% 3A A4 |12 1458 6&B1IA 2 7EE 6F 1A 1158 1% 9N /MW (6 1038 8% 4N 5
819 5 JRIAO—X | BEAA NZ0.0.0.0 [ =F0.0.0.0 | 449 +17 (kR 54 @@B | 432 -16 {kfER 54 D@D | 448 +3 {£fEKR 54 @DD 445 -5 3% 54 @O | 450 -3 KMEHE 55 ©@®D
(FHFRRTORI) 244 ££0.0.0.0 0.0.0.0 [ 1400m % F 1:28:6 38.4 | 1600m % % 1:48:7 42.6 | 1400m # [ 1:30:5 38.5| 1500m 4 #§ 1:38:1 39.1|1400m & B 1:30:5 40.3
%] ] 0.0.0.0 | 01.0.1 | £%0000 [@-® -@06| MMM 36.5-38.9 445 (1) | NSS 36.4-42.0 133 (5) | MMM 38.4-38.6 534 (2) | MMH 38.4 323 (6) | MMM 36.4-39.4 243 (4)
(B) k=217 #2%£330i80 | £42.3.0.5 | #0102 1254(0.3) HFEE | 797 +91-(2.8) Seibsk | 1255(0.1) ik | 4935 (1.9 AEE | BV (.5) kB
PR 432 1800miE 41 5 Ak (SRS : 2014.12.02~2016. 12.01) REATHE HER 3ERE
IEfZ i a8 WEESK 1E 2%F 3&F S LS ExE %k (% 1 2 3 456 7 8
1 Fa4—TAURY b 148 20 13 1 98 0.135 0.223 ¥ @@ (3#ME) 17 29 11 23 20 18 20 17
2 XUTAANAN 93 1 13 8 61 0.118 0.258
3 FAAz=Yr—2R 45 7 3 1 34 0.156 0.222 7 ®
4 RFLT—LK 56 5 4 1 46 0.089 0.161 PG
5  JSvuss4E 28 5 2 219 0.179 0.250 =
6 N—ErTr— 70 4 5 6 55 0.057 0.129 )
T HATATE— 45 4 4 1 36 0.089 0.178 o)
8  RUNYEUHT 38 4 0 430 0.105 0.105 ==
9 N=VsS4 63 3 8 4 48 0.048 0.175 % ©®
10 FEIAYL—Y 29 3 4 220 0.103 0.241 5 @

20164 F12H4H (H)  SEM2H 9R ¥ 7 5 X Vi

" );*Q’E"ﬂsft&) YHORERZ], HUERGH, STFLAELRE, INTEMERITOHEXEMELTREW,

FR2H% 2i%5005 LA GRA)  CRHB) [Sis 1800m 2 AYE 5 OB, IEIRESUET,



